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Calorimetry Questions

. The molar enthalpy of solution for ammonium chloride is +14.8 kJ /mol. What is the final

temperature observed when 20.0 g of ammonium chloride is added. to 125 mL of water
with an initial temperature of 20.0°C? (9.4°C)

. A pellet of potassium hydroxide having a mass of 0.648 g is dissolved in 40.0 mL of

water in an insulated cup. The temperature of the water increases £from 22.6°C to 27.8°C.
What is the molar enthalpy of solution for KOH? Assume that the solution has a density
and specific heat capacity equal to that of water. (-75 kJ/mol)

1.44g of naphthalene (CjoHg) was burned to heat water from 20.3°C to 26°C. If the mass
of the water is 2.5kg, calculate the molar enthalpy of combustion of naphthalene.
(-5314 kJ/mol)

. The water inside a hot water tank is heated by the combustion of methane gas. If the

temperature of 160L of water inside the tank is increased from 25°C to 90°C, determine
the mass of methane gas that needs to be combusted. The molar enthalpy of combustion
for methane is -890.5 kJ/mol

(784 g CHa)

. You were asked to mix 20.0 mL of a 1.0 M HCl solution with 100.0 mL ofa 1.0 M

NaOH solution. The initial temperature of both solutions was 18.9°C. The temperature of
the final solution was 21.1°C. Assume HCI and NaOH have the same specific heat
capacity and density as water. What is the AH/mol for the neutralization of HCI?
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